GASH FLOW

Cash Flow

| A. Young family of

I R iy

Income from wages: $800 5
four Mortgage payment: $450
Food: $300

Electricity: $50

Petrol: $50

Total Income =

Total Expenditure =

Total Income -

Total Expenditure =
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C. Older executive

Income from wages: $750
Rental payment: $300
Hire purchase: $50
Electricity: $80

Food: $200 i

B. Young couple

Total Income =

Total Expenditure =

Total Income -

Total Expenditure =

[ ] Positive
|:| Negative

I:] Zero

Income from investments: $150

couple Income from rental property:
$400

Income from wages: $1000
Mortgage payment: $250
Other outgoings: $550

Income from wages: $700
Food: $200

Credit card payments: $200 ‘
Hire purchase: $100 i
Entertainment: $200 !

CommonwealthBank /
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